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Note : This paper is of Forty (40) marks divided into two (02)
Sections A and B. Attempt the questions contained in
these sections according to the detailed instructions given
therein.
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SECTION-A/( @US-% )
(Long Answer Type Questions)/( S ST ol Wg)

Note : Section 'A' contains Five (05) long answer type
questions of Ten (10) marks each. Learners are required
to answer any Two (02) questions only.
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What do you understand by Cardinal points? Define its all
types. Derive Newton's formula using them.
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What is a polarimeters? Explain Laurent Half shade
polarimeters in detail. Discuss action of Laurent half shade
plate. How specific rotation of sugar solution is find from
it?
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What do you understand by interferometer. Discuss in detail
Michelson interferometer. Discuss action of compensating
plate.
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4. What is an eyepiece? Discuss about Ramsden eyepiece. Is
it a positive eyepiece if yes please explains.
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5. What are astronomical telescope ? Discuss about Newtonian
reflecting telescope. Explain how reflecting telescope are
better than refracting telescope.
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SECTION-B/( ©@US-@)
(Short Answer Type Questions)/( T I AT Y9 )

Note : Section 'B' contains Eight (08) short answer type
questions of Five (05) marks each. Learners are required
to answer any Four (04) questions only.  (4x5=20)
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1. What do you understand by Fermat principle? Deduce laws

of reflection and refraction from it.
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2.  Write short note on Fresnel Biprism.
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3.  What do you understand by polarization? Explain how
polarization is done by reflection.
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4. Write short note on :
(a) Fresnel class of diffraction.

(b) Fraunhofer class of diffraction.
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5.  Show that when medium on both sides are same nodal points
coincide with principle points.
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6. Two coherent sources of intensity 10 w/m? and 25 w/m?
interfere to from fringes. Find the ratio of maximum intensity
to minimum intensity.
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7. In a Newton's rings experiment the diameter of the 15th
ring was found to be 0.59 cm and that of the 5th ring is
0.336 cm. If the radius of curvature of the lens is 100 cm,
find the wave length of the light.
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8. Explain law of Malus. Also explain it if used light is
unpolarised.
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